Lecture 36 - April 4

Announcements
· HW5 posted (due next Friday)
· For question 2 in assignment, get the commands from the web page
· Hw4 late today
· Material covered somewhat: RDBs Ch.12 in text
· Lab renovation ideas (email teacher)

Last time we were talking about group functions,

SELECT AVG(Salary) FROM ...



WHERE ...

 To find how many of those salaries match the where clause.
GROUB BY

· Normally, you can't select a column and the group function of a column.
· CANNOT do


SELECT Salary, AVG(Salary) FROM;

· Instead we can do this:
e.g. Contracts table: Total cost of all the contracts

SELECT SUM(Amount) FROM Contracts;
e.g. Total contract amounts to each company

SELECT Company, SUM(Amount) FROM Contracts GROUP BY Company;

· GROUP BY breaks tables into sub tables that share the same value for column you GROUP BY.
e.g.ABC
2006
15000


ABC
2007
8000


ABC
2007
1000


XYZ
2006
11000


XYZ
2008
15000

· Once they are organized in sub tables, we can easily take the sum of the amounts for each company.


ABC
24000


DEF
30000


XYZ
26000

e.g. Total amount in each year


SELECT Year, SUM(Amount) FROM Contracts GROUP BY Year;

Note: You can take out year and it will give you just the totals, but you won't know which year they correspond to.

· Can also group by functions of a column

e.g. Find sum size of big and little contracts separately.

SELECT Amount>=10000, SUM(Amount) FROM Contracts GROUP BY Amount>=10000;

Union, Intersection, Symmetric Difference

List1 = (G10, G14, G12)

List2 = (G9, G12, G16, G10)

union = genes in either list

intersection = genes in both lists

symmetric difference = genes in one list or the other but not both

(Teacher created some tables and inserted the genes in each table, each table is a list)

Union: SELECT * FROM U GROUP BY Gene;


Result : G10, G12, G14, G16, G9

(Teacher created a table listing the genes in first column, and the count in the second column.) 


INSERT INTO I (Gene) SELECT * FROM U;


UPDATE I SET Count = 1;

e.g. To get an output that shows the genes and the total count of each gene:

SELECT Gene, COUNT(Count) From I GROUP BY Gene;
(Next, a tableTemp3 was created with the unique genes in the first column and their total counts in the second column.)
Intersection

SELECT Gene FROM Temp3 where Count =2;

Symmetric Difference 

SELECT Gene FROM Temp3 where Count =1;

Multiple-table Queries

e.g. StudentInfo, Grades

Question: Find Canadian students with a grade of A?

· Could use 2 SELECTs to get Canadians, A students, then compute intersection.
SELECT StudentInfo.ID, StudentInfo.Name 





FROM StudentInfo, Grades





WHERE StudentInfo.Country = 'Canada'





AND Grades.Grade = 'A'





AND StudentInfo.ID = Grades.ID;
